
Jean-Michel Muller's Example 

From his forthcoming book ARITHMETIQUE DES ORDINATEURS 
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Th~E should qenerate a sequence { an J that converges slowly 
to 6 ~ but when computed i.n f loatinq···poj.nt or, any comp1_iter Lt:.=.i nc"i 
onlv finite precision the computed sequence converges rapidly t0 

1 00 i ns1:e~.d. 

Ar, e>:ccmple c,-f a Ej_nqulc:u,..itv removc1.ule nLtmerically only i+ tne 
cmni:·•..rteH-' s ar-i.thme,ti<: carries a ouard diqit iri subtraction: 

i::·~~J fur,ctjc,n f( r .. ec:il z ) 
if z ( 0 or z ) 1 

e J. SE :,. -f ... = 1 
then 0/0 

ther, -·O. =i 

else arctanc lnfz) J/arccos(z) 2 • 

The function ha~ a pow~r series exp~nsion near z = t 

f(zJ = -0.5 + <z-1)/6 - <z-1) 2 /2O - 124(z-1) 3 /945 + 




